“PLUG-IN” FOR
SENSOR COIL

“PLUG-IN" FOR
ACCEPT COIL

"PLUG-IN" FOR
VALENCE SENSOR
OR SMART MARK

“PLUG-IN"

SECURE WIRES WITH
WIRE TIE (P/N 08290005)

DETAIL

SMARK MARK
CONFIGURATION

AS SHOWN

ALIGN THIS EDGE OF TAPE
(P/N 08290004 > ALONG EDGE
OF OPENING ON MAINPLATE

SMART MARK \\\——CUSTDMER

BACK VIEW

PART NUMBER

S0
_@ COIN MECHANISMS INC.

Glendale Hts. IL 60139 (630) 94-7070
K 98 LS Tonaca

1-800-323-54!

y,
7— B

VALENCE SENSOR
CONFIGURATION

ZCIZIIN MECHANISM

SERIAL LABEL

VALENCE SENSOR
BACK VIEW

MATERIAL COLUMN

PN aTy MATL’ DESCRIPTION

1 04060005-01] 4 | STUD, #6

0406XXXX 1

WEIGHT, DAMPER, (SEE DOCUMENT #09300018)

04660165 1

COVER, PCB HSG, LUNIVERSAL

04690243 | A/R | SPACER, IC, .010

04690276 1

CLIP, WIRE, BARCODE, IC

0469XXXX 1

HOLDER, TKN, IC, (SEE PAGE 2)

2
3
4
5 04680244 A/R | SPACER, IC, .020
6
7
8

0469XXXX 1

HOLDER, BC, 45°, (SEE PAGE 2)

9 04690104 1

HOLDER, VALENCE READER

10 | 0B25XXXX 1

COIL, ASSY, SENSIR,

10A | OSE69XXXX | —— | LEVER, ASSY, DAMPER, IC

10B | 04690266-01 [ —— | PIN, PIVOT, DAMPER, IC

06250193 1

COIL & BRKT, ASSY, GRN, 4", PHR (SEE PAGE 2)

06250199 1

COIL & BRKT, ASSY, GRY, 4" PHR (SEE PAGE 2)

12 | 06270045 1

PCB, ASSY, BC RDR, SM, TESTED

13 | 06280101 1

HARNESS, VAL, 3 PIN AMP, 4 PIN PHR, RED/BLK/VIO, 5.25

14 | 06650258 1

RETAINER, ASSY, IC, SPRING

15 | 06680023 1

CHASSIS, IC-36/37, SALES

16 | 08290208 1

PHOTOINTERRUPTER, REFLECTIVE

17 | 0927XXXX 1

PCB, CTRL, IC (SEE PAGE 2)

18 | 0950-000XXXX| 1

IC, 87C752 (SEE PAGE 2

19 | 4364 2 | NUT, 4-40, HEX, KEPS

20 | P-166-6-X 1

SCREW, 6-32 (SEE DOCUMENT #089300019)

21 | P-186-4-3 2 | SCREW, 4-40 X 3/16,PHIL/SH. INT SEMS WASHER

22 | P-217-2-5 1

SCREW, 2 X 5/16, PHIL, PH, HI-LO

NOTES:

1. SEE INDIVIDUAL BILLS OF MATERIALS FOR VARIABLE SINGLE
COMPONENTS INDICATED BY SHUARE BALLONS.

2. SEE INDIVIDUAL BILLS OF MATERIALS FOR HARNESS
REQUIREMENTS.

RELEASED; SEE INDIVIDUAL P/N'S FOR REVISION LEVELS 9/15402
no.| E5P REVISIONS DATE/BY
oSt T 7e_3537  py
FRACTIONS= # 1/64 )
COIN MECHANISMS INC. ANGLES= #1° IDENTIFICATION
400 REGENCY [R. e 1.0l0
GLENDALE HEIGHTS, IL 60139 we ons 208 oo Ton e T o0
contalie Bropr ety Infarmat o of CRITICAL SYMBOLS [crko DATE
Coin Mechgnlgs Inc).' The drawing v = CUSTOMER APP DATE
iy S renes o et 1+ | W pROCESS
cgge?n outhgrlzgt‘l;orli mg vlll‘l;l gl?; be W = BOTH DVG NO. DOB83603
Interest of Loln Mechanisns. SIZE: D] SCALE:N/A | FINISH: WA LR




“opA sﬁi
} uonned

13 VOLT WILL
HAVE IDENTIFYING
LABEL INSTEAD OF
REGULATOR

PCB P/N

TOKEN HOLDER P/N

04690059

- 32 seidT
4cd 94V=D

IC-37 WITH COVER REMOVED

P/N 05690XXX

LAST SIGNIFICANT
DIGITS MOLDED
ON DAMPER LEVER

DAMPER LEVER

INTELLIGENT CQMPARITOR®

Model # 10=37, 24AC. INHNO. $16
CMIG_B68378811 INTELLIGENT COMPARITOR P/N

Ser.# [B1E9EQ

U.S. PATENTS NO'S, 5,433,310 AND OTHERS

LA ALSO MFD. UNDER LICENSE U.S. PATENT NO. 5,046,841
@ COIN MECHANISMS INC.
® Glendale Heights, IL 60139 (630) 924-7070
1-800-323-6498 USA/Canada www.coinmech.com

IC COVER
MICRO P/N
(MAY HAVE 0950-000XXX FORMAT)
COLOR, PLACEMENT AND ACCEPT COIL ASSEMBLY
NUMBER OF DOTS
DENTIFIES BARCODE P/N 06250193= GREEN WIRES FOR LOW VOLTAGE (12-13VDC)

HOLDER P/N
P/N 06250199= GRAY WIRES FOR HIGH VOLTAGE (24VAC)

RELEASED; SEE INDIVIDUAL P/N'S FOR REVISION LEVELS 9/15402
M. | g REVISIONS DATE/BY
Jmewee | T IC-36/37 PIN
_ IDENTIFICATION
COIN MECHANISMS INC.| P*ieess ie™
40D REGENCY DR, )&(O(X: i&l}g
BLENDALE HEIGHTS, IL 6D13D HOLE o £:008 ORAWN | DF DATE 9/5/02
CHDO DATE
BARCODE HOLDER Contn i, proar Tetony” TaForrat fan of CRITICAL SYMBIL
Coin Mechonisns Inc. The draving APP DATE
sl | e retared pon renest nd I A 4
vritten outharization and wil 1 nat be OWG N D0683603
used in any way detrinental to the
Interest of Coln Merhanisns. SIZE: B| VA FINISH:  N/A | SHT 2 OF 2



debbyw
2

debbyw
38

debbyw
1

debbyw
3

debbyw
4

debbyw
5

debbyw
6

debbyw
7

debbyw
8

debbyw
04690059


2.19”
[55.6mn] IC-36
. 24 SMART MARK
[54.4mn]
3.88" mparitor™
LT 1 e DIMENSIONS  \ (Comparit
1.05" ' 19"
[26.7mMm] . 180" MAX. [4.8nm] . DWG# ENG00087
[4,1mn] " _ "
SEE DETAIL ON 100" '%ég5gmm£4§7gmm]
.0B" | SPACER OPTIONS [2.5nn] COIN DI RANGE
[1.5nn] '
I ke IE
4.00" o
[101.6nm] o VYo
(6
3.38" |
[85.9nn] HER
f_________{l LI 15
" 1]] A Ir @ @
79 1.88" 7~ INTELLIGENT COMPARITOR \ &
[19.0mnn] [47.8mm] @ % @ @)
Model #
| N =, ®
116" [23.4nn] _@ COIN MECHANISMS INC.
' Ul Glendale Hts., IL &0138 (530> 924-707D
[29 . 5nn] + + é]: \ 1-800-323-6438 LISA/Canado / l]} E[ || B
.06” .25// , 112" 1 .95// ] .95” BAEK VIEW
[1.5nn] [6.3mm] [2.80m1° (43 53mm] [4G 53mn] ROUTING FOR ACCEPT COIL LEADS
COIN REJECT  COIN ACCEPT
s N_ @ .187" o5
[3.8nn] [4.7mn] [1.5mn] -
| og = [89.15 nnl = 49
' l0651/ -
[27.7rmn] [1.7mm]
160" [4.1mn][.310” [7.9nn]
140" [3.6mm][.290” [7.4nn]
-OQS/- 105/ " "
P T .120” [3.0nmn] .270” [6.9mn]
RANGE O S ' — \_| ' 095" [2.4mn][.245" [6.2nn]
L H+i%:££::ﬁmmmww—4 | 082" [2.1mn]|.232" [5.8nn]
{ ' I I .072” [1.8mm]1][.222" [5.3mm]
- ?Zz%ZZZZZZZZEL__ — —
I 1 | A B
[ ! | ! k} i N I il I3 SPACER ENTRY
| L — =l I SPACER OPTIONS

5 o) \j ,Igu [ .25
FIXED L | r3.8mm] oo (5, 3nn]
REFERENCE COIN D14, e
(4. 1mn] o —— F.018" =
| L.5nmd COIN EXIT

comn ere £ = s o] 5

COIN MECHANISMS INC. XISTING HOLEX —) \

CONNECTOR FROM
P.0. Box 5128, Glendale Heights, IL 60133-5128 P/N ENGOOOB7 -5/02 MACHINE
630/924-7070+1-800/323-6498%FAX 530/924-7088+E-MAIL-coi nmechecoi nmech. com

VISIT OUR WEB SITE AT www.coinmech.con

P/N 06280102






